
MATH1040/7040 Semester 1, 2011 Week 2 Solutions

1. 2× 5− 2 = 10− 2 = 8 and 2× (5− 2) = 2× 3 = 6

2.

−4
6

+
5
17

=
−4× 17
6× 17

+
5× 6
17× 6

=
−68 + 30

102

=
−38
102

= −�2× 19

�2× 51

= −19
51

3.

12
11
÷ 9

14
=

12
11
× 14

9

= �
3× 4
11
× 14

�3× 3

=
4
11
× 14

3

=
4× 14
11× 3

=
56
33

= 1
23
33

4. (
−3
−10

− −39
40

)
× 52
−13

+
−12
−2

=
(

3× 4
10× 4

+
39
40

)
× 52
−13

+
−12
−2

=
12 + 39

40
× 52
−13

+
−12
−2

=
51
40
× 52
−13

+
−12
−2

=
51

�4× 10
×�
�13× �4× (−1)

��13
+
−12
−2

=
51
10
× −1

1
+
−12
−2

=
51× (−1)

10× 1
+
−12
−2

=
−51
10

+
−12
−2

=
−51
10

+
12× 5
2× 5

=
−51 + 60

10

=
9
10

1



5.

1
14
− −15

7
=

1
14

+
15× 2
7× 2

=
1 + 30

14

=
31
14

= 2
3
14

6.

12
5
× −6

15
=

12
5
× �3× (−2)

�3× 5

=
12
5
× −2

5

=
12× (−2)

5× 5

=
−24
25

= −24
25

7. − |39.9| = −39.9

8. Substituting for z into the equation gives 2x− 3 = 6, so 2x = 6 + 3, so 2x = 9, so
2x

2
=

9
2

Hence x =
9
2

9. |−6y − 6| = 0, so

− 6y − 6 = 0
− 6y = 6
−6y

−6
=

6
−6

Hence the solution is: y = −1

10.
−10x−5x−2

x4x−2
=
−10x−5−2

x4−2
=
−10x−7

x2
= −10x−7−2= −10x−9

11. 2y (1− 4y) = 1× 2y − 4y × 2y = 2y − 8y2

12. (4z + 5) (1− 6z) = 4z × 1 + 4z × (−6z) + 5× 1 + 5× (−6z) = 4z − 24z2 + 5− 30z = −24z2 − 26z + 5

13.
−2x

3
= 0

Hence solution is: x = 0

14. 6 +
−5
5z

= 0, so
−1
z

= −6, so −1 = −6z, so z =
−1
−6

Hence solution is: z =
1
6
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15.
−9
18
− −3
−9

=
−9
18
− 3× 2

9× 2

=
−9− 6

18

=
−15
18

= −�3× 5

�3× 6

= −5
6

Hence solution is: z=−5
6

16. In interval form the answer is [−2.8, 0.2) and on a real line the answer is:

� -
-5 -4 -3 -2 -1 0 1 2 3 4 5

w-2.8 g0.2

17. In inequality form the answer is −10 ≤ x ≤ 1 and on a real line the answer is:

� -
-50 -40 -30 -20 -10 0 10 20 30 40 50

w w1

18. −1 = −5x + 2, so −1− 2 = −5x, so −3 = −5x, so
−3
−5

=
−5x

−5

Hence x =
3
5

19. 5y − 2 = 6, so 5y = 6 + 2, so 5y = 8, so
5y

5
=

8
5

Hence y =
8
5

20.

10x + 3 ≥ 6x + 3
10x + 3− 3 ≥ 6x + 3− 3

10x ≥ 6x

10x− 6x ≥ 6x− 6x

4x ≥ 0
4x÷ 4 ≥ 0÷ 4

x ≥ 0

In interval format the answer is [0,∞) , and on a real line the answer is:

3



� -
-5 -4 -3 -2 -1 0 1 2 3 4 5

w

-
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